Roll No, ;| | [ ] NMMS{H)

i HINDI | A S1 No, 2

NMNS - NOVEMBLEI, 2019

MENTAL ABILITY AND
SCHOLASTIC APTITUDE TEST
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Instructions to the Candidates

R the fullawing instroctions care fully before vou answer the guestions, Answers are (0 he
SHATER on 8 SEFPARATE PiverrGME A nswerSheetwilh o Black Ball FointFen. Read the
[nstructiens prineéd on thOMR Sheeticarefully before apswering (he questions.

1.

I-2

I'lzase wrike your Cenire Code No. and Roll Mo, very cleatly (only one digit in one block}
oo the MR Sheet a3 given in vour admission ceml. Please see that no black 1s letluntilled
und even 7eros appearing io the Centee Code No.are comeetly runsteroed 1o the approuiate
blocks un the OMR Sheat as shown in the examuople given i the OB Sheat For all
subsequent purpescs, your Centre Code Mo, and Koll Mo, shall remain the same as given
om the Admission Cand

The Test is in T™O Parls. Part-1 consists of 90 questions and Pari-11 also congists of
o0 guestions

All questions in Par-1 ed Part-1] carry ene mark cach,

Kince allquestions are compulsery. do not tes 1o read through the whole giestion paper
Lefore beginning to answer it

Begzin with the first question and keep teying ong question after another 13l you finish ot
the Farts.
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10.

Ll
12.
13.

Ifyou da not know the answer (o any question, do nat spend much time on il and puass oo o
next ong, 1 time permits, you can come bacl: to the questions which you have lelt aut in
the firat instance and 1ry them again.

sinee the time allatted 16 the two pacts of this question paper is very lmitel, you shoeold
miake the best wze ol il by ool spendiog too moch time anany question,

A blank page 13 provided Lor rough work at the end ot each part.
Remembor, you have to shade answers on a separate OMR shect provided.

Answer 0o each question is (0 be indicated by SHADING the eivele having the number
of the correct alHernalive in the OMR Shect from amung the ones given for the
correspanding question in the booklet.

Moy turn to the next page and start answerng the questions.
Adtter the examination. vou should hund over tho OBR Sheet to the Invizilator of' the room.

The candidate need nod return this Question Paper Booklet and can rake it after the
completion ol the exaomination. Mo candidate should leave the examination hall
before the ¢nd of the examination.

This Beoldet gonsists of 31 Pages [or 180 Qruestions + 03 Pages of Rough Waork +

02 Fitle Papes g Tatal™36 Payes
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Part - I : MENTAL ABILITY TEST
Time : ¥ Minutes Mlax. Marks : 50
Mote : SHADE Lhe eorreet aliernacives in the O Answer Sheet provided, froom amongst the

ones given sgainst the comesponding guestions in the Ouestion Paper Booklet. For shading
the circles, wse o Black Ball Point Pen.
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SPACTE FOR ROUGH WORK
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Part - 1I : SCHOLASTIC AFPTITUDE TEST

Thne + 20 Minutes Max. Marks : 90

Mot ;
i1 Subjeul, Ouestion No. and Marks allotred:

5L No. | Subject {Juestion Np. Marks
L. Physicy Ol o 102 12
2 Chemistey 100 o 113 I
3 Biology 114 tor 125 12
4 Mathumaties 125_ 10 !ES 24
5 Hislory 146 to 155 L1}
fr, {ioography | 156 tg 163 10
1. Molitical S-n::icm::i_.l* ! Loa o 173 1
5, l:'cmmmics_ 176 1o 180 by

i} SHADE the virele having the earrect alternatives in the DRE Answer sheel provided,
Frann arncnigst the ones given against ibe corresponding questions in the Coestion Paper
Noaklet. For shadiog the vireles. uss a llack Ball Point Fen.
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PHYSICS
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CHLEMISTIRRY
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BIOLOGY
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